HER e o BER RER

¥(-)

2P

H

7§

* Arig

L s Tp s § SR F R
xR R E LR

2. FRIGE AR %éi’?:‘%\‘\lfﬁ]'}%
BAFEF - E Y Rl o ;T‘Jt.
L EHREEFRP

LRWEL AR ¥ P

4, 4%k 5 &;}‘3’)&7];53' TR 3
A AR Rl

AL

2% 73

fal

22 ¥ k3

1. 2\ 5 19 & 34 %“#2\1*—&?1?’4“}

>~
ol
=N
f\m
‘an
e
Er
3

XA QPLi%ﬁJ*ﬁwm»,
ERMAF R Fpe LF & i
ﬁ

LARELEY D A
ﬂk’g’k[ﬂ\' 'J:\;'}

I
LAEELT 4 AL P A
%._Eumi

AL EHMARBLE LT B G
B AR L

s

AP

EAESEE L

(1%)

2

P

(24%) -

RIS
[

- X
B
(49%)

R EE
(74%)

%244

#.(99%)

1.3¢ g FECG {4 S RS ‘f‘—"F\:
X

2.5 0 HEEEF PR N ER
Pp b2 R B T

3. % & 8 I ALA [ o A
BEEY BP0 AL %

4. Ao doie FE A A AR M T

(e FFR RSP L)

B R L R IR > A g F
By F 2 e (G RS
HAFEL)

6,40 % 24 PP 4 3G D) R RTRE

X3 L ANTERE ST Y

R R I CT R Ve

F2)
T.5 e wImiER » A ¢ AR
B LR SOG G R0t
BT s
8. fXd NI 1L 7—}“%}:’?}3}5"




HER |

e B R RERFE (=)

EI) AP
L EARERE ~ PRS2 (-2 2 ()7 -2 Q)+ ¥ g+ A
1) 4
2. WM AdE 20D D@ D@1 DWsd 06 e
3oimp FlupdEs 20(Lra D@ O3 OWsgsy OG)aL
A4 vRFHEE 20K O@rs D@+ DOWass 68
BB 5 ng e e w 20(DAS D@ O OWed 0G)a
'};;EE"E g
('3 g |0 FREZFEFA RS 20 D@k OO F # DWak
— 3t 15 % “a‘ | ‘
") (TR A R BB G AT R HE RS 2(DAS D@ D@1 B O@s
¥ D( PEA
8. ix F%P“fr” La- A= 20D D@t O+ JWeass O6G)a
%l
in e F HE P 2 LD ) )3 o gd OGR4
10. 7 & 4§ ¥ »“é REE 2K D@ O3 DWss OB
~~7u7*k
R} P ’i?j; 3L g F L
LA g F g S R ed 2o i ks
T 2 FMAG S AfA S FEINEL
kR
= 3L
jiz .-k AEBG P B
SRS
IADNIVEEE SR -5 I X s
DA E -~ BT F ol st
PG E I, B R B, TR H O —R - REMRASE |




HER Lo Rk EERE(-)

AL H

H

7 %

7 —'z‘r'iﬁ

LE Rk s A § EF R . . N
SRR S SRS T
150 142
100 I
50 - 39
0 — [ |

H A BN IpE

2.0 fF T 2 A 2 BARL e
BAEAER - F Y Rk s ,T&,
£ x5 ]l\-gr f}%“]‘%pl’

162

18

16

200 162
150
100
50 I 18 16
0 — —
s g i

3§@ﬁ{&ﬁfﬁ’%xg%§
—'1 rﬁ?‘ ?Q'Efff’ikﬁﬁ% i

181

200 181
150
100
50 6 o
0 —
# e 13

4. Sl [ NN L) 4 }}%E\"E‘%'ﬂ#ﬁ R
I E/.\_,#J. .H:Zg ﬁijf}u/';

EN

175

16

200 175

150
100
50 5 16
0 —_— —




BER |2 REERERFE(-)

Z£% 7

F &

Pl

65

HE om 2
0 20 40 60 80 100

120

2. AL & YA A R AL F A F
e S A e

35

97

59

59

97
35

0 20 40 60 80 100

120

BLALWLEYEY J A AR LE AR
s

44

97

40

15

Eil=s 40

97
FEETEE 44

120

4. AEE RGN AR R4 A LB

115

70

-
G ——7
70
T e
0 20 40 60 80 100 120

bAFEHMABEEFEF A GG TR A
5

48

75

59

14

e— |4

59

@

w
i
il
il
Fy
[o5]

75

120




BER e cRERIEERFE(-)
. 22|10 | F - X e 2t | L
R LH B
e e e |+ | +r | 5 | er | PF
L3¢ 8 o 4 0 R4 fo
. 6 30 79 54 27 196
B4tk 1.5% | 153% | 403% | 27.6% | 13.8%
2.3 HF RSB PR A g
1
B e AR 3 5 41 79 58 196
Epasn 15% | 7% | 20.9% | 40.3% | 29.6%
I R A N = =
ENER R R R £ I 6 217 33 54 76 196
X e
ﬁ‘j [EPaew 3.1% | 13.8% | 16.8% | 27.6% | 38.8%
i,.’
A B o i BF A B g AP
v (TR (ble s RF A R 13 27 49 70 37 196
& %)
;i‘ Both 6.6% | 13.8% | 25.0% | 35.7% | 18.9%
:
OB gy R A F
.ﬁg Ry e (2 1] 30 37 43 44 42 196
AR FF 2
[EBazn 153% | 189% | 21.9% | 22.4% | 21.4%
" |6.hr % A PP A 18 PR AL
Vol A /e F R | 16 14 43 65 58 196
"R R R et (T R
~ |Est 82% | 71% | 21.9% | 33.2% | 29.6%
7.5 7 s LI GER - AN g i
HEER o LERER SO G 4 217 31 66 68 196
SRBETS
[ERazw 20% | 13.8% | 158% | 33.7% | 34.7%
8.7 1 L wIGERE - A& L)
g 5 o g 12 34 29 60 61 196
[Epazw 61% | 17.3% | 14.8% | 30.6% | 31.1%




BER e BERREEY (=)

",«t&'*’

'y 5 TUldem | 4w | gL sR| Ak
LG T P EE 2 | 21 40 80 12 13| 196
B4k 10.7% | 204% | 40.8% | 21.4% | 6.6%

3 & (% 7 PF ¥ w0
L e aie 21 46 69 12 18 | 196
P etk 107% | 23.5% | 352% | 214% | 9.2%
; 3. b T HRES ? 29 95 59 12 1| 196
f; =Pa3se 148% | 48.5% | 30.1% | 6.1% | 0.5%
| sg s 59 93 39 g 3| 196
i. E4th 26.5% | 474% | 199% | 46% | 1.5%
%} 5. 154 LI HEEM R © 5 9 g 37 40 76 35 | 196
T lEsw 41% | 189% | 204% | 38.8% | 17.9%
?iri% ’;'fiﬁ%ﬁ&w FRRE 17 | 925 | 62 | 88 | 196
. |ESE 20% | 87% | 12.8% | 31.6% | 44.9%
4 1§+jz§“’g%@jﬁ “E 7 2 48 | 114 | 196
R = 05% | 3.6% | 133% | 24.5% | 58.2%
8. 54 B e 4 f AE 9 y 16 40 58 80 | 196
=Pa)5e 10% | 82% | 204% | 29.6% | 40.8%
9. it {218 19 1ok 9 4 12 2 85 69 | 196
=pa3ce 20% | 61% | 133% | 43.4% | 35.2%
0. GagREYRHLen? | 4 12 19 82 19 | 196
=pa Nt 20% | 61% | 25.0% | 41.8% | 25.0%




BER )t BEhRERF L ()

AP EE 2B E

o
Wi

™

A
™

LA B FHERUG Pom 2w i 2

16

105

&

0 20 40 60 80 100 120
2. KRR > AHA L ER AR 2 11 | 93 90
FEFTE I 90
(6 93
e — 11
FEHAFE B2
0 20 40 60 80 100

47

99

42

JEFE 42
e 9
AFE . 47
JFEATE - g
0 20 40 60 80 100 120

4 8

[t

ER S ENN DY ERE R iR

34

110

44

RIS 73
(G 105
ATFE 16
SEHAFE W 2
0 20 40 60 80 100 120

5. A E - BT Ffor L el 16

62

83

35




